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Answer Key
Class-X (English) PT-1(2025-26)

Set-A
Q.1 Reading section
I Ans. (c)land 4 1
Il Ans. c) Lines on the highway 1
" Ans. d) offer advice to 1
v Ans. (b) To organize our lives. 1
Vv Ans. What is the message conveyed in the last paragraph of the passage? 1
Vi Ans. (c) be possibly dangerous. 2
Q.2
I Ans. b) It is the date of a major event. 1
I Ans. b) He was overwhelmed by the attention. 1
Il | Ans. a) Excited 1
IV | Ans. b) The author is the host of the event 1
Q.3
I Ans. Any two points in detail, Hard working, Naive, Trust in God etc. 2
I Ans. The poet wants to break the conventional thinking of the people and wants to tell that there | 2
is nothing good or bad rather our thinking makes good or bad.
11 Ans. Tricky suffers from obesity and he was cured by keeping it on a strict dies by the doctor. 1
Tricky was not given any food, provided with water only for a couple of days.
Iv Ans. Importance of Education and Anil’s Trust (in detail)
Q.4 Grammar
I Ans:- Incorrect:- Stays  Correct:- Stay 1
I Ans. Incorrect:-Is Correct:- Are 1
Il | Ans. Incorrect:- Inaugurate  Correct:- Inaugurated 1
IV | Ans. (D) Is 1
Vv Ans. C Will bring 1
Vi Ans. Error-tends Correction- Tend 1
VIl | Ans. Witnessed 1




Answer Key
Class-X (English) PT-1(2025-26)

Set-B
Q.1 Reading section
I Ans. (c) 1
1l Ans. B 1
" Ans. A 1
v Ans. A 1
\Y Ans. To remember unformation 1
VI Ans. Adequate 2
Q.2
I Ans. D 1
I Ans. To know about the letter 1
Il | Ans. To sow seeds in his fields. 1
IV | Ans. A 1
Q.3
I Ans. To bridge the gap created by the policy. (In Detail) 2
I Ans. Because he knew that he is restricted to the cage and can’t terrify them. (In detail) 2
Il Ans. Describe his qualities in detail. Careless, good psychological knowledge etc. 1
Iv Ans. Company of dogs, hunting rats etc. in detail.
Q.4 Grammar
I Ans:-C 1
I Ans. C 1
M | Ans. B 1
IV | Ans. Has 1
Vv Ans. Felicitation Felicitated 1
\ Ans. Error-tends Correction- Tend 1
VI Ans. A Is-Are 1




